[T ANDOZ A —ERY B BIfEIZHE D L4 R

2 7% =EBE4 BT

2 8% w4 BT

52% =EBE4 BT

77% 4# BT

120% 4#BT

2 7% JLE BT

5 2% HRE BT

77%F FHBT

120% IRFHEHE

17 :02% = ASEHEh
17 :20% = AR
16 :40% = AR
17 :30% = ASEHEH
16 :25% = AR
16:00% = ASEHEh
16 :30% = ASHRE
17 :003% = JAEHEH
17 :303% = ASHRE

18 :56% = 19 :06IZHZZEEL
DOEHER T4, 2 RmEEEZ(19 : 20)

18:40% = 18 :50|IREEFEL
JORHIRER &9 5, L2 RimimiEZ1(19 : 03)

19:20% = 19 : 30ICHAEFEL
JORHIRER &9 5, L2 RimimiEZ1(19 : 43)

18:45% = 18 :55|CHAZEEL
PR &9 5, F2BmiEiEZ(19 : 01)

17 :55% = 18:05|IRIFEFEL
POSEHIREH &%, B2 RimiEEREZ (18 :28)

18:30% = 18 :40I|TRIFEFL
DOEHIRRH &%, B2 REimEEZl (19 :03)

19:103% = 19 : 20ITHAZEHEL
DOEHIREH & 95, Bz EmEREZ(19 : 43)



